> A
A & 0l & AF 2 E A A
20229 = = 0lat LBl AL
A R =y
M otME T2 EF
ool S22 Hd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fal=n. 38,594,846 25,157,446 13,437,400
= 3,864,000
s 4,900,000
J| 1,307,200
< 4,814,759
s 21,708,887
T 2,000,000
orE s S 2 &3 11,707,396 6,638,996 5,068,400
= 350,000
J| 1,307,200
< 236,959
s 9,813,237
SCZae e 2,602,696 2,161,996 440,700
J| 299,000
< 3,859
[ia 2,299,837
HE the 22l 407,800 200,000 207,800
201 Let24d] 15,000 25,000 210,000
01 At 22l 10,000 20,000 A 10,000
Ozg 7zt ME&Y &TH X2 10,000
02 =224l 5,000 5,000 0
OBl KX Zelbl(&I], 45, 22) 5,000
206 M= Hl 235,000 95,000 140,000
01 M2 4l 235,000 95,000 140,000
OM&Es g3tzs & 23 7 200,000
OM&I & A25 F¢ 30,000
OZcH=0L ¢ 100& x50, 0000H 5,000
02 OI=2L o243 86,000 65,000 21,000
02 QIZHRITHOH K EF S22 = 86,000 65,000 21,000
OM4&ZY oAl S 86,000
307 glz2tol & 22,000 15,000 7,000
06 283 22,000 15,000 7,000
OM4A=A S 22,000
405 TtabF S| 49,800 0 49,800
01 AL EFH S 49,800 0 49,800
OlbE EHRX MEM &4XE) #¢ 46,000
OMEED 0lsA & 2 3,800
Ay gt 2,500 5,000 A 2,500
203 YR =&l 2,500 2,500 0
03 A F=XH R =AY 2,500 2,500 0
OH&dE AIHFA 2,500
CRUEHE 299 974,260 1,079,860 A 105,600
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A R =y
M otME T2 EF
ool S22 Hd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 5,000 0 5,000
O=R= At Xl A&t 2,000
OXN2RE =2 K= 3,000
TAIEHI 20 515,000 0 515,000
J| 240,000
s 275,000
01 A& HI 515,000 0 515,000
OZtEDIH & AL 515,000
J| 240,000
s 275,000
=2e&0 NIAAMY 59,000 0 59,000
J| 59,000
401 A& HIZ 2018 59,000 0 59,000
J| 59,000
01 A& HI 59,000 0 59,000
OXNEAHANUN &5 At 29,000
J| 29,000
OZ1E JHl A 30,000
J| 30,000
C2EE M 9,104,700 4,477,000 4,627,700
= 350,000
J| 1,008,200
< 233,100
i 7,513,400
SHEZZ HE 2L F 1,670,000 1,170,000 500,000
= 40,000
s 1,630,000
401 Al HIZ 201 I 1,670,000 1,170,000 500,000
< 40,000
s 1,630,000
01 A& HI 1,661,000 1,163,500 497,500
OLZ0I=EX 50,000
o724 sHE S YA} 795,000
O SHEEZZ SHZHIA 577,000
O=2d SHEZZ SHEZTIA 199,000
OXSH A2l NYE HEF 40,000
< 40,000
03 A& = THHI 9,000 6,500 2,500
O7R=24d SHEZZ SHEZTIA 5,000
O2gd sHEZZ SHEZHEIA 3,000
O sHEEZZ SXZHEIA 1,000
=z g #1% 2,548,000 2,507,000 41,000
401 AIEHI L 201 2,548,000 2,506,000 42,000
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2N
X ZH -
L= B

el

ey
HU i mx
oo &

CEMA &5
g e

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 2,524,082 2,492,000 32,082
A4 HHFSE g2 Hl 494,600
o=t & sHEEZZ FX2e 200,000
OFD-EH2 2& SHZEHIA 739,922
OSU~JAS2t ML SA 397,120
O=40ts & 25 SZHIA 692,440
03 A& S THHI 23,918 14,000 9,918
Od==¢t sl gz Hl 5,400
OFD-EH2 2& SZHIA 8,078
OSU~AS2 S SA 2,880
O=240tE8 & 25 SZHIA 7,560
CERAEUE oia 150,000 150,000 0
401 A& HIZ 201 I 150,000 150,000 0
01 A& HI 150,000 150,000 0
Oung ordmgzazu B 150,000
WEHEEH 285,000 50,000 235,000
< 53,100
e 231,900
401 A& HIZ 2018 285,000 50,000 235,000
< 53,100
e 231,900
01 A& HI 285,000 50,000 235,000
OHBBRANLE BHEY 285,000
= 53,100
s 231,900
A= A 1,300,000 600,000 700,000
2 350,000
s 950,000
401 AIEHI L 2] 1,300,000 600,000 700,000
= 350,000
s 950,000
01 A& Hl 1,290,640 595,900 694,740
O=2g~=g2t A=z d8HEMY 595,680
OotIHXE IE8E2 S8 694,960
2 350,000
i 344,960
03 Al 2 THHI 9,360 4,100 5,260
O=2g~=g2t A2 dEHEMS 4,320
OotIHXE g2 d8MAAS 5,040
LXE HE(BEX)(MeAY) 280,000 0 280,000
= 140,000
s 140,000
401 AIEHI L 2 CHYI 280,000 0 280,000
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EXN: A4
HEM: otNME T 2HAH =
ool CRe CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 140,000
= 140,000
01 Al&H| 280,000 0 280,000
O NE-AAMDXH2 HEAS 280,000
o= 140,000
= 140,000
MEZ NESSAY 2,871,700 0 2,871,700
J| 1,008,200
= 1,863,500
401 Al HI L 2 0HHI 531,000 0 531,000
01 Al& H| 528,000 0 528,000
OZEH AN Z X SSALY (L8 378,000
O'22d @xEst S5t NEAIL (O
"d) 100,000
O'22d 2adxssty Sst2 NESsALE (O
"g) 50,000
03 AlE 201 Y| 3,000 0 3,000
O8HdZ2 X=SstAIY (2egOewd) 3,000
403 XX SRS K20| & 2,340,700 0 2,340,700
J| 1,008,200
o 1,332,500
02 2| 2SS A=2EAEAIS Y 2,340,700 0 2,340,700
O&EH AIM KZ=3HALY (L EH) 648,000
O22d @4ExSst E52 XNSSHALY 1,092,300
J| 407,800
= 684,500
O'e2d Zgdxssty Est2 AESSHALY 600,400
J| 600,400
MIES TAZ2EA =4 14,979,000 8,753,000 6,226,000
g 4,900,000
o= 2,760,000
= 5,319,000
TH 2,000,000
T AIDIBHAIE &= 14,979,000 8,753,000 6,226,000
g 4,900,000
& 2,760,000
= 5,319,000
TH 2,000,000
S ALHE 22| 367,000 1,556,000 A 1,189,000
101 e1214| 5,000 5,000 0
04 JI2ZtHIZ22NHEE S 5,000 5,000 0
O ZHEANE HM=XY 22 5,000
201 Bt 62,000 25,000 37,000
01 AP 22| H| 62,000 25,000 37,000
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A R =y
M A)|ES TARSH ZA
Sl TADIBAIY =5 CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OEAMAE dE3102 10,000
Os324=0 294 50,000
OLaZAHEARZS 23 2,000
207 O] 300,000 200,000 100,000
01 2339 300,000 200,000 100,000
Oz ZelH& HEdEd 300,000
SAAHEZC(Ex) 1,009,000 1,000,000 9,000
s 1,000,000
[ia 9,000
401 AIEHI L 201 1,009,000 1,000,000 9,000
s 1,000,000
[ia 9,000
01 A& Bl 1,000,000 993,700 6,300
Oga M=% cl22E A 1,000,000
s 1,000,000
03 A& S THHI 9,000 6,300 2,700
OgZ4a HL=2Z el2ed Ay 9,000
AZAIHEEZ HESA 804,000 360,000 444,000
401 AIEHI L 2 CHYI 804,000 360,000 444,000
01 A& HI 800,000 350,000 450,000
OZHEEZ HESAM 350,000
OZHEEZ RANE= 350,000
OZHEZZ 0I2EX e 50,000
OMED 233 ZE3A 50,000
03 A& SR THHI 4,000 10,000 A 6,000
OZHEZZ HESA =& 4,000
YA CAHEHLHH(PIS)RK L4 38,000 38,000 0
201 Let2d] 38,000 38,000 0
02 23=2gHl 38,000 38,000 0
Ogaz ZAIAHEZEMA OB &3t 22,000
OuPIsS 2Z&H wX2el 16,000
A& AEAHE ZHAS 61,000 81,000 220,000
201 LBt 1,000 1,000 0
02 2324l 1,000 1,000 0
OXEN SBII=F=I IS 1,000
307 ©12+0I & 10,000 10,000 0
05 BIZHRIE 3 10,000 10,000 0
OH&ZXENZ EdH 29 10,000
401 A& HI L 20l 50,000 70,000 £20,000
01 A& HI 50,000 70,000 A20,000

- 479 -




A R =y
Hu: MI|ES CAZEN Z4
S9l: TADIBAIY =5 (B9 ®R)
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
OEMLXNENZ RANEAY 50,000
SAITHAY DJIBtE S 4,284,000 284,000 4,000,000
< 10,000
e 2,274,000
T 2,000,000
307 glz2tol & 234,000 234,000 0
< 10,000
e 224,000
05 22t E = 234,000 234,000 0
OZEANHEX2HE 22AE S 200,000
OZAITHA OL2tdi0l & XJAMEH 2] 34,000
< 10,000
[ 24,000
401 Al HIZ 2018 4,050,000 50,000 4,000,000
e 2,050,000
TH 2,000,000
01 A& HI 4,050,000 50,000 4,000,000
OSZAITH M X & A 50,000
O+ZHANE =4 9 2 4,000,000
e 2,000,000
H 2,000,000
AR SAMYE Sd3AY 3,650,000 3,334,000 316,000
< 2,100,000
fia 1,550,000
307 glz2tol & 150,000 150,000 0
05 RIZIRIE 3 150,000 150,000 0
OZANTHMIAHE QItREZ 150,000
401 AIEHI L 2 CHYI 3,500,000 3,184,000 316,000
< 2,100,000
e 1,400,000
01 A& HI 3,491,000 3,175,403 315,597
OdEINX T SAMY Sd3tA 3,491,000
< 2,100,000
s 1,391,000
03 AlE 2 THHI 9,000 8,597 403
OHIMNNT TAHY SH3ALSY 9,000
SATHA OI™HAIE () 4,566,000 1,500,000 3,066,000
ras 3,900,000
< 650,000
e 16,000
401 Al HIZ 201 8] 4,566,000 1,500,000 3,066,000
s 3,900,000
< 650,000
i 16,000
01 A& HI 4,550,000 1,494,600 3,055,400
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EXN: A4
BE: MIIES CABSH X4
CHRl: T AID|BHAIAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OLLERXNT S AITHA O™ ALS 4,550,000
Fag 3,900,000
= 650,000
03 Al 20| 16,000 5,400 10,600
OLLLERXN T S AIMHAM QA AA 16,000
AAF F2 L BZC AL 22 200,000 0 200,000
207 A SO0 £ 200,000 0 200,000
01 gim gyl 200,000 0 200,000
OZ22C0IXe NEHE =¥ 200,000
SHMA JIBHHIH &= 11,831,410 9,699,410 2,132,000
= 3,514,000
& 1,817,800
= 6,499,610
SosE MEIIUES 11,831,410 9,699,410 2,132,000
= 3,514,000
& 1,817,800
= 6,499,610
25K =2lAlE HES 934,000 734,000 200,000
201 Bt 34,000 34,000 0
01 AP 22| H| 31,000 31,000 0
O=zx=clAld MoHole HH U=
500,000& 603l 30,000
OJletx2d R4 1,000
02 232%H4| 3,000 3,000 0
O] AL 300,000 = 107K 3,000
401 AlEHIZL 201 Y| 900,000 700,000 200,000
01 Al&H| 895,590 695,590 200,000
OZC2IAIE (M=K, L=, BH4=X, 22D,
S E) A4 L AH| 695,590
OJISHEAIA 100,000
Oo=z&el M=Xl 2%)| s & 100,000
03 Al 201 Y| 4,410 4,410 0
OAXEX F=ClAIEIE 2 700,000,000 *0.63% 4,410
sHEx+ A2 95,000 95,000 0
201 Bt 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0
OsgE4 =22BAE 125,000 16004 &~ 20,000
401 Al HI L 2 THYI 75,000 75,000 0
01 Al& H| 75,000 75,000 0
O=sgE4 dIANAE AZE2el & Xolx=Hax
At 75,000




O Of ¥

=
oM A DB BB
=E MEIIBEY

SA - BB B (EH) - NRAY - BES of & o SSa HI D2
2ENLY ANE2S HE= 1,653,160 1,553, 160 100,000
401 AIEBIL 2 CHEI 1,653,160 1,553, 160 100,000
01 A€ dl 1,647,208 1,547,695 99,513
o228 |RIE+ 444,048
O2F ol8Al& (22, 283 8) |X2altl 200,000
OAgaINY 38,160
Osg&INY 495,000
O3 0oME 450,000
OXNIXNGt=2EAL(EXZ2EY)ER
10,000,000& *2H 2= 20,000
03 Al 2 THHI 5,952 5,465 487
OZFIMNY AME2 HE=>
1,653, 160,000 *0.36% 5,952
S EHE AL 200,000 200,000 0
402 2I2tXt=01 & 200,000 200,000 0
01 QA2 AMEE X (KA ) 200,000 200,000 0
O&EIHEAY 200,000
=2 ZHIAY 900,000 1,200,000 300,000
401 AIEHI L 2CHYI 800,000 1,000,000 200,000
01 A€ dl 800,000 1,000,000 200,000
O8Hi+=2 FHIA 700,000
OUEH EH0tE E+2 FHIAMY 100,000
403 AXHHS =0l A 100,000 200,000 100,000
02 S 2S00 CHet A =8 2 & AL H 100,000 200,000 100,000
O8ti+=2 s UsAY 100,000
St UiHI 00 321,250 321,250 0
= 257,000
s 64,250
401 AIEHI L 2 CHYI 321,250 321,250 0
= 257,000
s 64,250
01 A€ dl 318,937 318,937 0
Oste il S+ 318,937
= 257,000
Ea 61,937
03 Al 2 THHI 2,313 2,313 0
OstL il E=+=He 321,250,000& *0.72% 2,313
ATE SUIPAIE FHIAY 145,000 325,000 180,000
= 145,000
401 AIEHI L 2CHYI 145,000 325,000 A 180,000
= 145,000
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A AL
M sHMA JIBHHH &5
e sYsE MEI|IBEY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 145,000 325,000 A 180,000
O2=+=H 22| glite s2 3| 30,000
= 30,000
OZdH E2x0t2 E2EE S At 30,000
< 30,000
O&AHH SX0tS =2 HHIAY 30,000
< 30,000
O2ZEH S TS =2 ZHISAM 15,000
= 15,000
OXEXH Jteel =2 ZHISA 20,000
< 20,000
OdledH &gl sti+=2 ZHl 20,000
< 20,000
g8 =HZHALY 30,000 30,000 0
401 AIEHIZ 28I 30,000 30,000 0
1 A&l 30,000 30,000 0
Oogolgt X2l 30,000
NESSBLMLS(HMEAY) 1,000,000 1,000,000 0
AMEHI RS 1,000,000 1,000,000 0
01 A& HI 993,700 993,700 0
OXE=S ML A (HE) 993,700
03 A& =2 I 6,300 6,300 0
OXNE+S2AML A (&2
1,000,000,000& *0.63% 6,300
JIAHSEEZ SILEAAY (MEAY) 428,000 428,000 0
401 Al B2 2B 428,000 428,000 0
01 A& HI 424,918 424,918 0
OJIAHSEAZ T ALY 424,918
03 Al 20 HI 3,082 3,082 0
OJIAHSHE&Z St EZ ALY
428,000,000& *0.72% 3,082
ANZelAIEINE 4 (JEALY) 1,350,000 1,100,000 250,000
< 1,080,000
[ia 270,000
401 AIEBIZ 28I 1,350,000 1,100,000 250,000
= 1,080,000
[ia 270,000
01 A& Hl 1,345,140 1,096,040 249,100
OAZ=elAEE= A 1,345,140
< 1,080,000
= 265,140
03 AIE 2 0HHI 4,860 3,960 900
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EXN: A4
M HMA JIBHHIAH &5
Sl SYsE MEIIUEY CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OANZLCIAIEMESAY =&
1,350,000, 000& *0 . 36% 4,860
B ==JH & AFE 2,000,000 1,451,000 549,000
= 2,000,000
401 Al EHI L 2 0HHI 2,000,000 1,451,000 549,000
= 2,000,000
01 Al&H| 1,992,800 1,445,776 547,024
OWEXN TR BI==&E A 1,992,800
= 1,992,800
03 Al 20| 7,200 5,224 1,976
OUEXF Biz=IHE AL =&
2,000,000, 000 x0.36% 7,200
= 7,200
Mol /IE M=K EHHIAL 2,514,000 940,000 1,574,000
= 1,257,000
& 502,800
= 754,200
401 AlEHIZL 2 0HY| 2,514,000 940,000 1,574,000
= 1,257,000
& 502,800
= 754,200
01 Al&EH| 2,504,949 934,078 1,570,871
OMHAE H=X HHIALL 2,504,949
= 1,257,000
= 502,800
= 745,149
03 Al 201 Y| 9,051 5,922 3,129
OMlAE M=K HUAYE =&
2,514,000,000& x0.36% 9,051
s FAXYG AIE 243 HEAIS 60,000 100,000 A 40,000
o 30,000
= 30,000
401 A& HI L 2 0HHI 60,000 100,000 A 40,000
= 30,000
= 30,000
01 A& H| 60,000 100,000 A 40,000
OJla FAXNYE AIE S5 HEAIY 60,000
& 30,000
= 30,000
ANZ2Zel =X &Y XA 201,000 222,000 A 21,000
& 60,000
= 141,000
401 AlEHIZL 2 0HY| 201,000 222,000 A 21,000
& 60,000
= 141,000
01 Al&H| 201,000 222,000 A 21,000
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